
Spiel:  - vom   13.05.23

Spieler: Keßler / Keßler VL Ergebnis: 363 Holz
Bahn 1
Wurf Holz Wurfbild Ereignis Fehler Gesamt

1 3 0 3
2 6 A 0 9
3 5 0 14
4 3 0 17
5 1 A 0 18
6 8 0 26
7 0 F 1 26
8 1 A 1 27
9 6 1 33

10 1 1 34
11 1 1 35
12 1 A 1 36
13 3 1 39
14 4 1 43
15 2 A 1 45
16 9 A 1 54
17 7 1 61
18 2 A 1 63
19 8 1 71
20 1 A 1 72
21 6 1 78
22 3 A 1 81
23 6 1 87
24 1 1 88
25 1 1 89
26 1 A 1 90
27 3 1 93
28 5 1 98
29 0 F 2 98
30 1 A 2 99

Volle: 0 Abr.: 99
Fehler: 2 Gesamt:  99

Bahn 2
Wurf Holz Wurfbild Ereignis Fehler Gesamt

1 3 0 3
2 0 F 1 3
3 2 1 5
4 2 1 7
5 0 F 2 7
6 0 F 3 7
7 2 A 3 9
8 3 3 12
9 2 3 14

10 2 3 16
11 1 3 17
12 1 A 3 18
13 3 3 21
14 1 3 22
15 2 3 24
16 2 3 26
17 0 F 4 26
18 1 A 4 27
19 9 A 4 36
20 7 4 43
21 1 4 44
22 1 A 4 45
23 5 4 50
24 4 A 4 54
25 8 4 62
26 0 F 5 62
27 0 F 6 62
28 0 F 7 62
29 1 A 7 63
30 3 7 66

Volle: 0 Abr.: 66
Fehler: 7 Gesamt:  66

Bahn 4
Wurf Holz Wurfbild Ereignis Fehler Gesamt

1 8 0 8
2 0 F 1 8
3 0 F 2 8
4 1 A 2 9
5 3 2 12
6 1 2 13
7 3 2 16
8 1 2 17
9 1 A 2 18

10 6 2 24
11 2 2 26
12 0 F 3 26
13 1 A 3 27
14 9 A 3 36
15 6 3 42
16 2 3 44
17 1 A 3 45
18 7 3 52
19 2 A 3 54
20 8 3 62
21 1 A 3 63
22 7 3 70
23 2 A 3 72
24 3 3 75
25 3 3 78
26 1 3 79
27 1 3 80
28 1 A 3 81
29 3 3 84
30 6 A 3 90

Volle: 0 Abr.: 90
Fehler: 3 Gesamt:  90

Bahn 3
Wurf Holz Wurfbild Ereignis Fehler Gesamt

1 5 0 5
2 3 0 8
3 1 A 0 9
4 8 0 17
5 1 A 0 18
6 7 0 25
7 2 A 0 27
8 9 A 0 36
9 7 0 43

10 2 A 0 45
11 9 A 0 54
12 6 0 60
13 1 0 61
14 1 0 62
15 1 A 0 63
16 3 0 66
17 1 0 67
18 3 0 70
19 1 0 71
20 1 A 0 72
21 7 0 79
22 1 0 80
23 1 A 0 81
24 9 A 0 90
25 4 0 94
26 4 0 98
27 1 A 0 99
28 5 0 104
29 2 0 106
30 2 A 0 108

Volle: 0 Abr.: 108
Fehler: 0 Gesamt: 108


